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17 |Prooisi mg/| 0,020 F = 3 0.0002 4 7# £ = = 0.00024:58 i 000027 | o000z | 0.00025458
18 |Freroomdl me/] 001 F - - - 0.00023R - = = - : = - 000024 | 0.000230% | o000z | o000z | 00002530
19 |RUropesFi g/l Q.01 F = = = = 00,0002 7455 = E: - - 0.00023kF | 0.000220 | 0.0002%0 | 0.000236 | 00002565
B mg/1 0015 T = - - - 00002533 — - - 0000248 | o.0002% | 0000255 0.0002 5478
21 et /| 0.6kl T = 00,06 44 = - R - 0,064 - 0.0 0,063 0,065 0,065k
22 |rooErs /] 0.O2ELT 0,002 = - 000247 =~ = - 0,002 # 5 = 0002 e 0,002 i
23 |roomkid me/| D06 - 0.0002 3% B - (.0002 - - - 0000250 0.0002 - 01.000.
[T BT mg/l | poanlr - 0,003 4% - - - 0.0034i = D003 oo0adaE | ooade | o001
| oxdoois me/] 000027 E = .0002- - = - 00002 - 00002425 | 0000230 | 0000276 | 0000240 | 0.0000 508
26 mg/] - 0.001 il - 0.001 i - - - 0,001 il D001 | 000l | 00014 | D001 | 0.0015H
27 gl = 00,0003 A2 - - [0.0002 - 0,000 45 N 0.0002 0.0002 7 78 = {0.0003 1,000 5
a8 me/l 0,003 = = 0003445 e @ - 0,003l = 000 | 00033 | 00005 | 0.003KE | 000345
28 |Frsorooss medl - . onn A - 0.00023 7 - 00002 - - 0.0002 3% o002k | ook | ooooedid | o002 | 000025
0 |7 ds e/ = 00,0007 = - o002z - 0,000251 - 00002 4% - o000z | o.oonzsd | o000z | o.oo0zdes | v.0002sk
3 fReLT TR mg/] 0.008iE 0.008%i% = = E 0008 - 00084 o008 | 0.008F | 000835 | 00084
32 |dndn R R 7 me/! = - 4 000555 ~ - - - 0.005%# | o005k | o005 0.005 0,008
3 T a-s=nhk ot et i el = £ -~ = 0,01 i = = = - 0.017% 0.01K7H 0,01 0,00 4 .01 434
M |ERUEOESS me/t .03k - = - - - - 0,03 45 0,033k .02 .03 78 00344
35 |#E ok Es g/l LOBLF - - - - 1005 - . - - 0,003 0,005 0,005 0,006 0,006
3 | FRIRLR TR CHEGE g/l 200LL F - - = = 4.5 - = -~ =+ = 0.8 9.5 9.5 9.3 [
37 |t RUEmidd mg/| 0.058LT 0.00 L3k = 7 = £ - 00014 | ook | ool | 0001F#E | 0001
38 ik g/l 200kl F 6.5 i 6.6 6.5 £.5 6.5 6.6 6.6 6.6 6.8 6.7 6.5 6.8 6.4 6.6 .4 6.8
30 |Haesandh, w R0 LG (E) g/l 300LL T = 8.4 - # B7.4 -~ - 68.9 s 8.3 = 8.0 7.4 8.3 67.9 71.9
10 |#mmEs g/ SO0ELT 144 138 - 2 150 = & 160 - 160 13 144 162 159
41 kA R E A mg/| 028 F = = - - 0,025 - = - 0,025kl 002548 0,024 0,024 0zl
42 A mig/l 00000150 T - - v - 0000001 A< = = - 5 & i 0000001 A5 | 0.000001 218 0.00000 1| 0.000001 75 0000001 |
43 |a-AF e v g = me/l |o.00001 BUF 0000001 =i = i = . = 0.000001 73| 0.000001 =8| 0.000001 4=3%] 0.ru0001 | 0.000001 3]
44 IR BmEETER /| 0.02LLF = = - - 0,002 % ~ ~ = 0.002FH | 0.002K0 | 0002k | 0.00240% | 00023
i5 [|7=t—ntE m/l | 0.005LLF - - 0.0005 4% = - - - - 000054 | 0000536 | 0.00055%0 | 0.000547# | (L0005
46 Ik (eI TOC) Dik) me/| LT 0. RES] 0.3 0.2 0.3 0.3 0.5 0. 345 0. 534 0,330 0. 358 0,35 ke 0,350 0,335 0.3
47 [plliE i ST T 33 7.30 7,32 7.31 3 7.48 7.40 7.40 7.38 7.43 748 7.42 7.43 7.30 7.37 7,10 737
18 Blawlzl Bl BirhlL Bk s Bl el BEiL Haiel Sl BEL : = = - =
49 |ELE = Al Bl Sl Bl FEE Bl Bl Tl L AL = B = =
i |EE B st Foeazs 05408 (.57 0.5 0,547 .54 (s 0.5 0356 .53 054050 0,580 0,55 0377 0.5 1,541
51 | B Jrurcs R 0.1k 015k 0.1 0.1 0.1 0.1 [RES 0.1F% 01558 0.1FH 0,1 :4:5% 0.1 4 0.1 %% 0.1
s RES CFENLVEH
— |&&E .o . 5.6 19.0 7.4 ard 26.5 19.49 16.2 10.5 0.5 10,0 2.1 9.5 18.1 25.6 5.1
— =i 5 16.6 e 218 26,0 245 14.0 12.0 21 5.0 8.0 27,5 41 16.8 299 28.1
T e/l —~ 0.2 0.2 0.2 2 0.2 0.3 03 0.6 [ [ 0.6 0.2 0.3 0.3 ik
— |EHicilE i Siem 181 180 179 175 1381 181 182 181 188 184 184 178 LBL 133 182
FaR B i >l Tk AR A e i i & e | i it & it & #EE i : = =
T B R B U . LR b e 204 I A FEELRE ELTHREL
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T _EAGE  FFALK R ﬁkiﬂﬂ}ok’ﬁ i e —ER &7
w A Hifiz 4A1E 57 12H 6R2H TATH 8fzd 9A1R 1nA6H L1ALoE 1ZH1E 1H5A zHz@ 3RLA R ”",;z.ﬁz'l'
4/l 0 0 0 o [l i ] a 0 0 i a i 0 ] il
T Tt Fha Tl (Rt T s A di i) Ffi Ll T i Ffi L Fehlll -+
e/ = 0.0003FH - - - - 00000 | o.o000kEE | 0.0003F5
ma/l = 000055 - = - - - - 0.000053 | 0.00005 R | 000005425 | 0000064250
mt /| 0.01ELT - - {1,001 i - == - 0.001F0 | 0.000FH 0001l 0.001 %%
/| 00180 F - = = = 0.001L 3 - - - - o001 | oot | oociER | 0001
E mg/| 0.0l T 0.002 — - = = = = 0,002 01,002 0,002 0.001%5E | L0015
8 TR ."rﬂ’;!l me| 0.02LT = = = 0002475 e = 0.002%# 00023 0,002 | 0.0025%% 00021 0.002F 78 00057 {#
O |E e mg/l 0Bl F = = - 0.00451 - - - ouosd | oooddei | coosdnl | oodesEdE | oo00dsig
I B A R LR T g/l GLOLEL T 00017 (001 - [T - - 0,001 #i - o000 | oo0ldiE | 0ok | oooideRg | 0.0015)
Ll ESREAREESE b (M EHERIR SR mg/l 10LLT ~ = = 0,66 = - ~ - 0.66 0.66 0,66 0.72 0.83
12 PPrERCEOLEl mg/| 0.8 F - = 5 - 0.08 - - - 0.08 1.08 0.08 .05 0.11
13 I"’?“&”‘U’--fL"‘*F‘" el LOELT = 013 - - = = = - 0,13 0,13 D13 v .20
14 mg/] 000250 = = s = (0. D005 A = E - 0.0002%04 | 0.000255 | 0.0002FK | 0.0002:%8
15 mg/1 L.OGELTF = = = = 00053 - - - 0,005 i 4005506 | 0.0055FK %
16 v Reastgsrenz=ee | pg/l 00480 F = D.0002 30l = = = & = = = L0002 .ﬁi 0.0002:4: | 0.000250 | 0.0002%0H
17 |rondss mg/| 0.02EL T = - = = 0.00025: - = = - 000033k | 0000255 | 0000250
8 [FrorooxFL me/| 0.01EL T - - = 00002585 - = - 0. noazﬂe’m 0.0002:40 | 0.000250# | 0. ﬂcmzvk‘a*i
19 JMyeoTFLL /| 0.01ELF 5 ¥ 0.0 - - - - - - = 000024 0000240 | 00003735 | 00002540
I e mg/1 0.0LEAF = = = = 0.0002 5 = = = = = 0.0002 7/ 0.00023%5 | 0.00023=5 | 0.00023%#
a1 e ma/| 0620 F - 0,064 = ~ 006578 0,063 - - (006 5 - (.06 .06 PRCEST DRCES
R Pegaied 1o 1/l 0028 F 00027 0,002 350 - - 0,007 427 - - 0,008 - 0002547 00024k | ooz | oooozdedE | o002k
Bl mg/l 0.06LLF . 00054 = E 00061 - = 0.0055 0.0017 0.0061 0.0017 0.0047 0.0077 0.0062
21 |&oooEig me/| 0,034 F . 0,002 - = 0.003 0,000 = = 0005 i = 003z | o0oddsE | oooaka | ooosdE | 0003 FE
25 Poxboodis g/ | 01T 0,0053 [IRHEE) - - 0,0025 = = 0.0040 = 01,0058 00,0055 00043 10,0037 0,007
6 |BER meg/l O.0ELT - 0,001 Fik 4 = 0.00L# — - 0,001 F 0.0 Q001 | 0.001FE | 0001 | 0.001FE | 0001
P | me/| LILLF = 0.0156 = = 0.0152 0.0145 = — 0.0095 == [.0186 (L0145 0.0180 0.0184
38 |RUdoniEs g/ ] 003k T 000350 0,003 - = 0.003%7 = E 0.0035H = 0.003 = 0,004 0,002 4
W |Forrrunis me/l | 03B - 0.0066 - - 0,0045 : = 0.0052 0.0029 10066 0043 10,0063 01,0063
P eEdd me/1 DHLELF = 0.0008 Z = 0.0006 0.000; - B 0.0000 - 0.0009 0.000% 10,0007 0.0007 0.0020
M [HULATATES mi/] 0,080 T 0.008=H 0.008 ] = . 0.005 %8 = = 0.008F il = 0,008 | 0,008 | 0.008%#E | 0.008KM | 0.00840
42 |EERUEOEY mg/ LOLLT = = = = 0.0L0 = - = 0.010 0.010 .01 0,013 0,009
35 |Ficr AR OEEY g/l 0200 F = 0.03 # + 0.05 .02 - - 0.01 - 0.0 0.0 0.02 0.03 003
34 | CEOkES /| O30T - 0084 - —~ = . = - - 0,03 #m 003 0,038 0,038 01,035
36 (RO S mg/| LOELTF - - = = 00057 - - D005 | 0.00550 0.006 0,005l
36 RIS LR RSOSSN mgl 'Joou F = = 2 12.1 - - - - - - 121 121 T4 1.2
37 e RUEDES /| 0,007 Az = = = 0.00L=0 | 0.00L=W | 0.001%E | 0.001%H
e R me/| 19.7 19.7 22,6 7.2 14,6 9.2 10.2 12.8 17.3 15.1 16.7 18.9 9.2 16.2 17.0 22.4
30 bk, e Al LR e/ s s = 34.6 - - - - - = 34.6 84,6 2.5 25.0
40 |TEREEE me/l L1 - 48 - & 81 < 114 84 a9 112 154
11 If-g 7 A S & A me/] B = - = = 002575 - = + 0026 002330 0.02 i 0025 0025
Eol B mg/] 000001 LLT = = 0.00000 1 23 = = = & < = = 0.000001 54| 0.000001 %] 0.000001 £ #] 0.000001 A5 0.000001 4 i)
41 A A —iL mg/l OO LLEL T = = .00000 1 i = - - - 00000013 0.voooo 18 0.000001 i [ 0. voovo1 = [ o.oncou k]
44 = AL B TR A me/| DO2LLTF - = o = 0.002 38 - - - - 0,002 oo | Goo2dERE | 0002
45 |P=s—al i/t 00051 T g 0,00057# - - - - - - = 0.0005:858 | 0.0005440 | 00005458
6 |ERSEERERTOC) 08 mg/l T 0.4 0.5 0 0.7 0.5 0.4 0.4 0.3 0.3 0.6 0.4
47 |pHIE = e 7.50 7,50 7,50 754 744 746 7.549 7,08 7.54 7.52 7.65 754
L S Bzl B# AL Bl Bl BRI AL Bl BiL Bl - - - - -
40 |RE Szl Sl Rl "L BEiL ! Rl Rl H£#L
50 |tank .54 0.5 0.5 0.5 55 .57 00,55 05408 154 .54 {5k .50
51 |isEE 0. 1 0. L TE 0.1 013 {11 i 0.1 #5 0. 15578 Q.15 0. L 0. 170 0. L3 RES]
— |#hmEmCE Ehd0EA
— Jkibl g = 13.8 16.0 16.9 20.1 23.1 2L 16.4 15.5 10.8 9.3 9.1 23,1 9.1 16.3 25.1 23.2
T 17.0 16.8 20.7 25.9 5.0 20,4 14,0 13.0 0 6.2 8.0 27,0 2.7 16,8 0.5 25,9
— |EEEs ma/| = 0.2 0.1 0.1 0.1 0.1 0.1 0.1 .2 0.4 0.2 0.5 0.3 0.1 0.2 0.4 0.2
Eey w5 em = 153 158 157 135 918 108 120 147 133 144 155 159 93,8 138 1501 180
I T b=y ey i & i & s il £ i 7T FE T M i T -
ENE i@ dab T, 10 e, TR e ER T
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SE T EAGE AREIKR SRR R — R L e S
HE THH war | A 1A78 5A12E 6A2E TATH SRS 9A 1A WHEA RERLE! 1ZH18 LAsA sH2E A1 Tt i el EEE "};ﬁf
L | -rame im0 0 [ [l [ il 0 [ i 0 1] ] 0 0 [ 0 0 ]
2 ENEE = Btz sy T fa ARt Tt R i Lt it 1 ThiE i £H Tl - hit 1) T s -
3 |EFIARUEDLES mg/l - = 000034 = = = = 0000350 | 0.000348 | 0000300 | 0000550 | 0.0003H
4 FBECEO{EE /| = = 01000055 18 = = = & = - = (0000634 | 0.0000537% | 0.000055 5 | 00000540 | 00005304
5 |ELRREakAS e/l N = — = .001 % - . = 00T | 00lEEEE | C00LsREE | CLO0LREE | 0001
[ L mg/| - - 0,001 F: i = + £ - D.00L%M | 0.00LEME | nooldee | oo0isil | 000l
7 RSO me/| = - 0.002 = = = = = ~ 0.002 1.002 0,002 0.001 458 0,001
S BN g/ = 0.002 48 - ~ 0002 Az 00278 = 0,002 18 = D00z | G002 0002550 | 000554
g T AR 28 ma/| - = {3, 00 % i = = = = 0004 0.004 4% 0.004 i 00045 it
10 T Ak R M LT ma/| 0.01LLF - 001 #E G .00 =l = 1.001 3 3 = - 00,00 i = 00010 | 0.00LFkE 0001k | 000135
1l |HEeEEn U amHeaEER g1 LOBL T ~ = - - .56 - - - (.56 0,56 01,56 0.52 0,44
12 |7o#BUEDLES mi/| O.8ELF - - = g = 2 - 0.09 0.08 0104 0.07 0.11
L Bk R T [t ] me/l I [llJ - 020 = 014 = - 018 - 022 (14 a.l7 i B .21
14 (PO ek /| = = = N . - = - 0.000270 | 0.0002:%0 | 0.00023%# | 0.00025% | 000023
15 J1,d-idSedbs me/] N - - = = & = 00053 00054 0.005 45 } 000557
15 feee e i me/| 00481 T = = = - - - - 000027 | 0.00023 | 0.0002:R | 0.000240% 24z
17 |roniye. i1 0028 F = & “ - 00002, ;hﬁ é = = = t.o002:k% | o.ooozskd | o.ooozski | o.conzdeiE | 0.00025
12 |Fredme=FLw mg/| 01T = = 000023 £ = o — = - 0.0002%0 | 00002450 | o.0002% | ooz | 0.0002%
19 |hyaonzFi me/| 001 T = 0. OUUJvk‘ﬁ = = = m - 0.00023# | 0.0002%58 | 0.00025%5 | 0000250 | 0000255
E /| 0.01LLF = = N o = i = L0002 | 0.00023R5 | 0.00025%5 | 0.00024208 | 0.000240
21 s me/l OBELT 0. 065 - 0,06 - - [ = 0,067 .06 0063 0.0 4 i 0,065 .06 il
22 |reopE: mg/1 0.0280F = 00025 s (1.002 [.002 786 - - 0,002 58 ~ 000250 | 00025 | 0.002FE | oo0zdd | 00023
22 ool /] | = [.0048 - - (L0100 - - 0.0048 0.0012 - 0.0100 0.0012 0.0052 0.0082 0.0086
21 oot mg/] 0. oruak.\ﬁ 0,002 58 5 - 0003458 = 000375 00033 | 0003 | oo0akE | oooidsE | 00036
25 BT oEimaid meg/1 = 0.0023 2 — 0,0030 = 00081 0.0023 0.0037 00,0043 11,0086
26 |R¥ERE | = - - 0001 4R - - e 0.001 5 - D001k | oooiEs | oooisid | oo0iEE | 0001k
o7 v AL R - - - 00100 - - 0.006Y 0.0225 0.0069 0.0142 0.0167 00232
e EET - 1.00% - (.003F = = 01,0034 - 0.004 - 0.004 0004
| oTitron Ay = 10,0058 — = LO0TH = = 00008 0.0020 = 0.0076 00048 (.0057 1.0079
n |Foekes 00810 F 0.0007 - 09,0004 - - 0,000 78 - 00007 0.0007 - 0.0007 0.0015
3] Rl AT ATl 0.08LLF - 0,008 42k - {1008l 0.00847H - - 0,008 4% - o008 | o008 | 0.008FE | cooskd | 0.008:H0E
1 |ERETEollLE LOELT = - - - 0,034 - - = 0,034 0.0434 HRIRE] 0,030 0.023
33 |TrEi=RARUEDEED me/l = 003 = = = = 0.03 0.0 003 Q.02 01.0%
a4 |EER R aieh = - 011 2.03FiH e = 0.11 - 0.11 0.03% 0 - 0.12 .11
3 |S|EBUEOES = = = = 0,005 = - - - 0,005 0,005 U005 0,006 0.005
38 |[TrvLRGEOES . 17 - = = = - - 13.7 12.7 a7 0.2 1.5
1 |mrdeRUEoikds mg/l = = - - 0,001 ik - - - - po0ikes | oooisEe | 000l | oo H‘c“‘ﬁ 00014
38 |k g 200LLTF 17.7 20.3 21.2 19.2 16,3 T 1.3 127 13.1 15.1 17.1 18.7 2.2 0. 16.0 28.7
39 AT b, AR LB (R /| HOLL T 245 = - - = = 245 4.5 4.5 26.5 26,6
40 |FEmREn 1/ | SO0LL F = 1001 = - 71 51 = 113 = 71 49 119 131
41 | Rt m/| 0.2ELT - - - 0,021 - = = 0.02# i .02 00274z 00258
T Bt g/l J0.00001 L4 F] 2 0000001 =i - i & o s e ~ 0000001 7 | 0.000001 3 i) 0.00000 L8] 0.000001 #i| 0000001 3]
43 =AF A VAT A — N g/l §0.00001 LT = - - - 0000001 F2iik = = - 0.000001 47| 0000001 4218 | 0.000001 x| 0. nuvoo1 i 0. LDDOOlerl
4 JI-‘-r>i'>'- el mg/| - - = 0.002:% 0% = = = = 000230 | 0.00%RE | o004 | ooo2dEg
45 [FP=t—n8 mg/| 2 = = 00.0005 i = = - = == - (LO0053RHE | 000055 | 0.00055# | 0.00054 7
16 |EES e HREETOC) i) e/ 0.4 0.6 0.5 0.5 0.5 0.4 0.3 0.4 0.4 0.3 0,335 0,4 0.6 IRE 0.5
47 |pHiE 7.30 7.47 T.4d 7.45 7.32 744 748 7.55 T.4di 7.581 47 .30 7.55 T.38 747 7.52
a8 e a £ Bl Rl HardaL E"m’«ﬁ_ Bardl Bl Bl Bl B Bl Bl - -
49 [H4 = JAEAL BEraL Ffel Sl - SLAAEL % Szl Rl L Bl BEEAL - = =
5 |EE B 0.5 0.5 0.8 1.1 0.6 0.7 0.6 N4 1.1 0.1 L1 0.5 = L1 1.0
51 [EE it 00,1458 [RE 0.1 i 0.1 0. 1314 0.1 0. 138 0.15R% 0.1 0.4 0,1 (0.4 0.1 0.3 0.2
— |FAREEME L EE
A< — 12,1 16.3 18.4 19.7 218 21.2 20.9 15.5 11.5 7.0 1.2 100 7.8 15.6 24.0 25,7
— &R - 15,1 17:8 P 25,5 25.0 26,0 6.1 12.7 2.9 5.5 8,2 24 168 213 256
— |rEEs 0.3 0.2 ol 0.1 0,1 0,1 0,1 0.3 0.1 .4 0.1 0.1 0.1 0.2 0.3 0.2
= [ Gl x 144 162 ini 145 115 89.7 105 119 i2 132 111 130 50.7 132 145 174
L RCTT -2 T A B AR A S b= b= vﬁ% it & it & & i el e b i iifi = =
T AR T, IR . SO B e ERTaET D
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w5 A B fir H A tA7H 5H12H 68208 TATH SHZAE 9F LA WHER LLRLWA 12H1H LAGHE 2828 3ALE e g TR :@”T% Bcql |
L |—wiEE B/ml | 100/ m T 0 ] i 0 ] 0 ] [ it 0 0 ] [ [il 0 0 0
2 kﬂh‘tﬁ - i o Tl Fhith R T Fhi T T Tkt it it T i b ) . 5 -
3 LR UEOIEES ma/l | 0.0038F - = 000034 i = = - = - 00003 | 000024 | 0.00053K0E | 0.000348 | 0.0003408
1 |FRECED{bSE me/l | oooosEl T = = = 0000055 = - = = - 0000053 | 0.000053R30 | 00000545 | 0.000054 | 0.00005F6H
5 e (] gl 00150 F = N = = 0,001 Fi = = = Qa0l# | 0.001FR | 0.00LFEE | 0001 | 0001
[ kg me/| 0.0LELT - 0,001 #il = - - = 0.00LFM | 0.00lRE | vooidEe | 0.00URHE | 0.00LkiE
7 |emBUEOESS me/| 0,018 F - - - 0.001 = - e = - 00401 0.001 0.001 0.001 F2i% 0001
E |AfEsodd _'.:*?-‘.WJ 1/ 0.02LLF - = - 0,002 0,002 5l ~ 0,002 - ooz | o0nesEE | 00025 | 0002 | D.006HHE
9 mg/| 0.04EL T - 000445 * = - - 0004 | 0.000AE | 0004 | 0004 | 0004k
IV Eis ff::% A B U T me/ 0012 F 5 0,001 55 = 0,001 Fif = - 0,001 #i oo0iF | ooolsEl | oooidE | oot | 0000
11 |FBEHEEE AR I O SR R g/ ] 1DLLF - = 22 - 0.44 = = - 044 0.45 0,48 .55 042
12 7R UEnitsd mg/] 0.ELLT - - - - - 0.08 0,08 0.08 0.07 oulL
13 progkisaess mg/ 1.0LLF = .23 = 0.14 - - 0.1% - 0.23 0.12 017 017 0.25
14 |msEi e mg/l | DODZELF = = = - - - - - 0000238 | 0000 0.00025% 0.0002 J&.ﬁ
15 -t mg/| 0.05LLF -+ - — - - 00058 | 0.005: (005
16 Jemrlivsnnmrie g e NMELT = - = = = - - 000025 | 0.000231 nnnn"m‘ﬁ 00002 4245
T EEE e 0,028 F = e = - 00002 = = = - 00002785 | 0.00025%0 0.0002 18
18 |FrirooeFlou 0,0LELF = — ~ - 0.00023k: 1 = = - - 0.00025%% | 0.0002:555 L0002 | 00002535
19 |MFopzFi- 001 T = 00002 = = = = 000023458 | 000025 | 0000255 | 00002 | 00002308
20 freE D.0LELF = = = 0.000254%% = s - - = 0002 | 0.0002 m:.ﬁ 0.0002:R# | 000024
a1 |t 0660 T a. orﬁi.#. 0,065 = - 006 . - .06 .06 A2l 0.06F0 0.065%
22 |mafkee ma/| 00260 F = - - (.0025 7 00027 i -~ = - D002 | 0.00235 000254z | 00025
498 ook mige | 00610 F - - - 0,008 - - : 0. 0010 - 0.0050 0.0010 0.0045 0.0052 00,0063
2 | rooEE mg/| 003 TF 0,003 = - - 0,003 30l 0.005%0 | oooaks | oooski | oooaskal | o.ooass
25 [Prarranis /| [ = 0.0047 - - 0.0031 = 0.0021 = = 0.0027 - 0.0047 0.0021 0.0032 0,004 0.0064
26 |EARE mi/| 0.0LEVE ] 0,001 #4 = - 0,001 Az - - 0,001 i 0.001 F il - 000040 | 00013k | 00015 | 0001 | 0.001=5H
27 &L oA mg/| BLELF 0.0129 - 0.0177 — o 00102 - 00062 0.0177 0.0062 0.0120 0.0113 0.01E8
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